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sia-TANDS-KLASSS:
OLOTIMERRALLYE Auswertung Aufgabe 5 "1, 2 oder 3?"
Ergebnisse nach sortiert
Richtige Antworten:
Max. Punkte: 300 1 a 6 C 11 b
2 b 7 a 12 | c
Pkte pro richt. Antw.: 20 3 o 8 b |13 ]| ¢
4 C 9 a 14 C
DNS = nicht gestartet 5 a |10 b | 15] a
Sartl l 203 |a|s |6 |7 |8 9|10|11|12]13]1a]15]|%" pat
Nr. punkte
115 DNS|DNS|DNS|DNS|DNS|DNS|DNS|DNS|DNS| DNS| DNS| DNS| DNS| DNS| DNS 0 9
DNS|DNS|DNS|DNS|DNS|DNS|DNS|DNS|DNS| DNS| DNS| DNS| DNS| DNS| DNS
c a c a b a b b b 0 0 0 0 0 0
116 0 0 20 0 0 0 0 20 0 0 0 0 0 0 0 40 7
C b (o b b b 0 0 0 0 0 0 0
117 0 20 | 20 0 20 0 20 | 20 0 0 0 0 0 0 0 100 4
c c c b a b a b a 0 0 0 0 0 0
118 0 0 20 0 20 0 201 20| 20 0 0 0 0 0 0 100 4
119 DNS|DNS|DNS| DNS|DNS|DNS|DNS|DNS|DNS| DNS| DNS| DNS| DNS| DNS| DNS 0 9
DNS|DNS|DNS|DNS|DNS|DNS|DNS|DNS| DNS| DNS| DNS| DNS| DNS| DNS| DNS
b a a b b b a a b 0 0 0 0 0 0
120 0 0 0 0 0 0 20 0 0 0 0 0 0 0 0 20 8
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